ZajAEl HAIE g, ME] MA{Q} FHRE| LIET} Q)

AE|olZA olcilA —E'|I'| AHo|E oA

ESHY/NE OIUIII

for electrics

© HEINRICH KIPP WERK GmbH & Co. KG

43
HZE &3:
OlEHIA ZHX{E= E2do 2 Qla &2

A o
gt 2ol MEELICH MY 2EEE 522 E0{0tEH CHE & 3F fIXIZ

ol & U&LICH

QEAIZE EEE E040F

S|
St 420 CH E£= DEE AFSELICH

AFE] MM} U QA ZEK{0M
HE Halg 4= 9

o
o
[>
~ >
um
I
r

it il P
0 >oum
rE m> e
-~

|

N

w

o

(6)]

—
~
o
w
g

2
lJLI->.'-lJLI

rH

i

T, 33t =X et S
£2|= 1.4305.
El 1.4305.

na—r

T
>
o
I
il
e
N
>
0x
A
fol
1=

EM OIF2:
AR HA:

LAt &2l8, 43 d=triEl
= E, 83t

HAYE 18, A3 3|M RAL7021.

HH:

HEH MMES-1mMm AEZI} &
71& OIo|E:

3 M-

£24 3|2: PNP H447|(NO)

s 79 6-30V DC

s ™R <100 mA

ﬁ'or‘li |_F7=| 1 mm
AAE F7]: <4000 Hz
CHef 2R): IS

o4 %%é 2mPVC 70|
2L % .10° C ~ +70°C
490l CE, c-UL-u, EAC

odof, a2lm A Ats

Fx 2.

www.kipp.com - info@kipp.com

1/3



EaLAE] HAS T8, ME) MAIR} FH2E] LI}
AE|oIZIA OIEIA SET, HO|E 212

=5 4Y/HIE o[0ix|

o|=:

P 2
LICE E3F &= Elo| Hste &S dEfol lCt=

Ct.

bl i b

AEf MM7E U QHEIA E-X = QM ot 7|50l eS| ef&L
ct.
EMH MY
Bt A &3 &R 63, 7IRE HE §i8
Etel B: &3 &% oS, 7I2E HE US
Bt C: &3 &R U, 7IREH HE i3
Bl D: &2 RS, 712E LE 8
P =7 0|g Zo|
BN =&
BK = A&
BU = &4
=M
D2
I
| [ 1
SW1
“ |
<3 o
I —J | D03
h
= 3
L
{ o : S\ SW2
b hooel | |
Dooil| |1 w
D1 |
Z= 29
FEHS Et 2 =2 A E ZF=ZE D D1 D2D3 L L1L2L3 AEZ3 SW1 SW2 Fx30° P INESS Bt
S Bt =
F19. N F29.N
K1744.21051 B A8 Zsl 5 M10x1 25245117 7 15 5 13 17 1,3 2000 5 12
K1744.22061 B S Z3t 6 M12x1,5 252,45620 8 17 6 14 19 1,8 2000 6 14
K1744.23081 B AE Z3t 8 M16x1,5 33 2,4 7426 1023 8 19 24 23 2000 15 35
K1744.24101 B AEl Z3l 10 M20x1,5 332480281225 10 22 30 28 2000 15 34
K1744.24121 B AEl Z3 12 M20x1,5 332484281425 12 22 30 28 2000 15 39
K1744.021051 B AHQlEA AR ZASt 5 MI0x1 25245117 7 15 5 13 17 1,3 2000 5 12
K1744.022061 B 2EHIQIEA AR AS 6 M12x1,5 25245620 8 17 6 14 19 1,8 2000 6 14
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



SciAE A OE]|, dEj dMeL I7I2E HEIJ U= 28 52
2 H|QI2]|A QIEA ZRK], Hlo|E HA

S 2%
FEWs H Bz HA=ZE D D1 D2D3 L L1L2L3 AEZE3 SW1 SW2 Fx30° P Al Erd
s By 3=
F12% N F22. N

K1744.023081 B  AEIQIEA Al ZHA3t 8 M16x1,5 33 2,4 74 26 10 23 8 19 24 23 2000 15 35
K1744.024101 B  AE|QlE|a A ZHs 10 M20x1,5 33 2,4 8028 1225 10 22 30 2,8 2000 15 34
K1744.024121 B  2EHQIEA A A3} 12 M20x1,5 332484281425 12 22 30 28 2000 15 39
K1744.121051 B  AE|QEA A8 H|ZS 5 M10x1 25245117 7 15 5 13 17 1,3 2000 5 12
K1744.122061 B  AH[QlEA AR H[FEE 6 M12x1,5 252,45620 8 17 6 14 19 1,8 2000 6 14
K1744.123081 B  AE|QEA AE  H|AS 8 M16x1,5 33 2,474 26 1023 8 19 24 23 2000 15 35
K1744.124101 B  2H|QIEA A8 H|Z3 10 M20x1,5 332,480281225 10 22 30 28 2000 15 34
K1744.124121 B  AH|IQIEIA AR H|ZES 12 M20x1,5 332484281425 12 22 30 28 2000 15 39

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



